Tangent-secant theorem:
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|3+ In the given figure, AP
=3 cm, BA=5cm and
CP=2cm. FindCD:
ffr o RAa & AP =
3cm, BA=5cm 3ﬁT
CP=2cm % ar cp=?
a)12cm /,w)//m cm
c)9cm d)6cm

:) ’?))\@: QX?D
\2= PD
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]49- PAB and PCD are two
secants to a circle. If PA =
10cm, AB =12 cm and
PC = 11 cm, then what is
the value (in cm) of PD?
PAB ddT PCD W ag-r g3
A ded WA T IR
PA=10cm, AB =
12 cm d49T PC = 11 cm,
g a PD &T AT (cm H)

FqT 872
a) 18 X479
c) 20 d)12
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/5- In the given figure, AP = 2cm, BP
= 6¢cm and CP = 3cm. Find DC:
ﬁ'@'?ﬂ'ﬂ'ﬁﬁﬁ'AP=2cm,BP=
6cm 3T CP = 3cm % ar bc=?

/(7 cm b) 4 cm
c)2cm d)3cm
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Chord AB and diameter CD of a
circle meet at the point P, outside
the circle when produced. If PB =
8cm, AB=12cm and the
distance of P from the centre of the
circle is 18 cm, the radius (in cm)
of the circle is closest to:

1726
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[#- A secant PAB is drawn

| 2 from an external point P to
8)(2_| = ng"Y / the circle with centre O,
2 N o intersecting it at A and B .
=Yy =]2l A If OP = 17cm, PA = 8cm
3 and PB = 21cm, then the
Y=l P e - diameter of the circle is :
< o Y D &t sex g p @ 0 &g
dk'(l-;?;z 7 IS g a® s SR
3 T4y PAB, El?ril?‘ra::ﬁAﬁTBW
_ OP = 17c¢m, PA = 8cmI 3R
@ Sil : PB=21cm § @ Ja &
A J WStajy AT AT Ff |
N a)llcm b)10cm

c)18 cm }9’/22 cm
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|8: Diameter AB of a circle with

centre O is produced to a point P
such that PO = 16.8 cm. PQR
is a secant which intersects the
circle at Q and R such that PQ =
12 cmand PR = 19.2 cm. The

length of AB (in cm) is:

%% O ak TH gad & AT AB Fl
v fig P a% &0 e ¥ ol
ST € fF PO=16.8cm & ST
% PQmemm%a’r

12cm I PR=19.2cm @ Gnr-n
g| AB &Y FFaTE AT FA?

a) 14.2 b) 15.2

c) 15.8 ;{14.4

| J




|9- AB and CD are two chords of a

04 0 (2, =19 circle which intersect at a point O
AOXOE) |2.9% -5 inside the circle. It is given that
AB =10cm,CO =1.5cm and
5 DO = 12.5 cm. What is the ratio
Swm  frod. IZ- between the larger and smaller
among AO and BO?
|1>><2 lizxxlgp \/E Asaﬁgcoa?ra;a‘rsﬂmésr‘ra?r
\1-5‘ ¥ et §g 0 W ufaede Fa
W6 .ggx:_, 8l 7® fmm wm @ & 4B =
Y C 10 ¥+, co = 1.5 ¥ 3k Do =
\ 12.5 @1 40 3R Bo & @9 €3
3R BR F €T FT eI F4T 37
N \ a)7:3 b) 3:2
—i _‘;__ /3:1 d) 4:1
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20.In the given figure, SX s
tangent. SX= OX = OR. If QX=4
cm and PQ=5 cm, then what is
the value (in cm) of 0OS?

& o5 rHfa A, sxuaﬂxra?
X@r &| sX= OX = OR ¥ IR
QX=4 cm dUT PQ=5 cm g, al
0S T AT (cm H) FIAT 872

AN b) 2

c)3 d)4




20 In the given figure, SX is

2 tangent. SX= OX = OR. If
(ZS): X8 x XP QX= 3cm and PQ= 9cm,
= ?x12=36 then what is the value

(in cm) of OS?
XS=6 & T efa A, sx

UF T (@ §| sx-
OoX = OR 8| I ax=
3cm dY4T PQ= 9cm g,
ar 0s &I A (cm H)
T 87

a)6 . b) 5
c)4 %3
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22.In the given figure, AD and
BC are tangents to the circle.

gc, pE x Bﬁ

AE =5cm, EB =4 cm,
= qu BC = FC and AD:BC = 2:3,
=2 then DF=?
& ar§ ampfa A, Ap 3 BC g
B(=6 N TINGT § IR AE =

5cm, EB=4cm , BC=FC

2 dUTAD: BC = 2:3 § <) DF=?
DH_DFXDC a)lcm %Zcm
6= % (X'\'6> c)4cm d)gcm

QJJ
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23 In the figure, PC =
9,PB=12,PA =18
and PF =8, then find
the length of DE.
wpfa & PC=9,PB=
12,PA=18 3k PF=8 §
ar DE #Y &S 9ar F1]

a) 1.5 /)’ 2.5

c)3 d)3.5




24. In  the figure, ABC is a
triangle in which AB = AC.
A circle through B touches
AC at D and intersects AB at
P. If D is the mid point of AC.
Find the value of AB:

Jard|
a) 2AP b) 3AP
4AP d) None of these
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26.In AABC,AB = AC. A circle
drawn through B touches AC

ADQ_z A?XH B at D and intersects AB at P. If

D is the mid point of AC and

0= 5 x2% AP = 2.5cm, then AB s
2 equals to:

AABC ¥ AB = AC% | B ¥ 8@

=) Q=5 f@ar @ 349, Ac M g p W

T FT & 3T AB F:
A%_ 9T Fredr §| I D ,AC &1 A
=10 fig & sk AP = 2.5cm @,
AB & AT AT HfaA?
a)9cm b) 7.5 cm
c)12.5cm %10 cm
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26- In the given figure ABCD is a
cyclic quadrilateral DO=8cm
and CO=4cm AC is the angle
bisector of 2BAD. The length
of AD is equal to the length of
AB. DB intersects diagonal AC
at O, then what is the length

of the dlagonal AC?

& I wefa A ABCD TH
ThT ar-rahr % DO=8cm 3R
CO=4cm HIT AC FIUT £ BAD T
WFETANTATH § AD FY FFaTS AB
& eI §| DB R AC
N 0 W Yfaedg Fa1 g ar
A&t AC &1 a1 TaET|

A 20cm  b)24cm

c) 16cm d) None of these

| | 17
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273 Triangles ABC and DBC are right
angled triangles with common
hypotenuse BC. BD and AC
intersect at P when produced. If
PA=8cm, PC=4cm and
PD = 3.2 cm, then the length of
BD, in cm. is:

fsrer ABC 3R DBC, 3HIfASS
ﬁscmmﬁﬁﬁ
BD 3T AC # et W q P
w yfaeoRa o #) IR
PA=8cm, PC=4cm 3
PD—32cm%' ar BD &Y
d91S (cm H) AT F:

2) 6.4 /{68

c)5.6 d?7.2
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28-PQ and RS are common

tangents to two circle
intersecting at A and B. AB,
when produced both sides,
meet the tangents PQ and RS at
X and Y, respectively. If AB =
3cm, XY = 5cm, then PQ
(in cm) will be

PQ 3 Rs & gl A ssafass
T W@ § S A 3k B 9 -
gE &I Fed § | el aE (37)
AB I@T &I deld 9T d§ HAA: X
3R v g 9 Taef @ pq 3k
RS W fAadt & | afF 4B =
39.AL, Xy =537 . g, a
CGIEN & Pq fhde cm ghem ?
a)3cm Jﬂ4 cm

c)5cm d)2cm
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Miscellaneous

theorems & results




Sine (extended) and cosine rule:

a__._b C i
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&’) I. If the angles of a triangles

are in the ratio _4:1:1.
T CA&NYV\L\ Then, the ratio\of the
- //T“: largest side_ to ) the

- . '9 -3°x
perlmeterls—-—
\ ﬁra"rﬁanra;%w411$
“|-|-|—-;2|lx ) 20 o o 7 & P A wd
9 ot s AR gEE aRw
=3 B ( C mraa-‘mg‘l?rr?
1

- a) 2 b)
»-X_J-_%/ y} 3\/§ 2;\/5

— 2+V3 d)1+\/§
a-I-J’?>
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2.ABCD is a parallelogram, where

&,ﬁéo AB:AD = 2:1, One of the angles

A APJP \L D C of the parallelogram is 60°. The
two diagonals are in the ratio

BD q+|,,22|o<l ABCD Th FAGR aqdel &, i@l

“l AB:AD = 2:1 | Tor@®r T& FI0T 60°

=2 3| =t Rpoit #1 3T F= gam?

BD: 3 . AV a) 7:3 \/_ \/—

f A ) B c)7:5 é:)rNone of these

AARC, (s 120=~

A Ut] - 2.2 \-tj)
=]
A(,zz\ﬁ
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&660;/ 2. The two adjacent sides of a cyclic
A /] 2z C quadrilateral are 2cm and 5cm
and the angle between them is

P)D 25+Y-25> i‘ 60°. if the third side is 3cm,
z 9 then the fourth side is of length
BD =19 T TER TS Y @ HAT ot

2cm 3R 5em ¥ 3R 3T A &
ABDC, €I &1 FIT 60° ¥ TR T spe
A gcm%ﬁﬂﬁﬁmﬁmm
=
BD qux Q‘%'L(,) 2 2.cm b) 3 cm
=) 2 c)4cm d) 5 cm
)m-v.omL % \G‘sm— I
x *%X-\Q: Q 1

<D
D
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Y.Side AB of a triangle ABC is 80 cm
long, whose perimeter is 170 cm. If
angle ABC = 60°, the shortest side
of triangle ABC measures

I70-30=Q0— ACGtAC  p

- (o) QO’% cm.
8laD X - 130% 3 7> fpel P ABC # 3[T 4B, 80
= QUgo™ 60 em Wt ¥, Frasr aRAT 170
Rl . ;7— cm &1 I FOT ABC = 60° & At

7 C¢ s ABC #1 gad S 8T F
=) \ C"l%l
\ T =t CaA6D =

& =1
_2_ ,/4’?17 b) 15
c) 25 d) 21
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5.In a triangle ABC, if the three sides

20 A a=>5,b="7and c = 3, what is angle
- —Jd 0D 9 B?
Ya= 25+9-2-5 xCe> v fe ABC #, afy e semd

c= 7 a—% "b=73 ¢c=3, ®T B
AT 87
= 30049 = d 120° b) 150°
Cor — e C  ¢)90 d) 60
v
120

| SSC CHSL, 24 May 2022 51 | 0
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